SHSEE MHEHIXEFRIK EHTEFE(E) REERMA  SWM5F48178
4 A 5 A 6 H
A |’ NRITE B |’ PRATE A |’ PRATE
. IREHRE (2% 4)9:35
s 1| A [%& sc sBiaso UK [epamxiac-®) ssiaso
2|8 %18 2 | k& |SB13:50 2 | & |F=HHERMERE-VF)
3 | B [REROIRERLE 3|k o9 oA =| 3(x
4| 4| K HEYDA 4|8 %108
5 | K [BERDIKERT 5| % ZELME 5| B |[&% B8 (E) scC
6 | K [AZH (F#&) 6|t 6 | Kk |FT—LD
BT . ¢ ERRE% (2% 4)13.00
7|2 o 7= =ed | X [EaRaat sems)
) ) HBEAES(1 3
8|+ 3| A Eig%g'eg) SC SBI3:50 8 | K |[F—LFEE SB1350
o W |BRARE(3-4%) SB13:50 BRESH(VFEDY)
9|18 =el 9| & |lEmas 0| ® lerasiEmL
BikEIE (5-64) SC ?Eﬁ;ﬁﬁfﬁ-uibm SB13:50
101 B SB11:20 11:30 T4 (148) 1ok géé%ﬁ?‘étt 10f+
o |BEER FIKBIE (3-44) i g
1] K| sB1120 11:30 F#:(148) 1| K|BHARE(E) SBI1350 1|8 %118
HERE BWAIE(2HF) N BN . BN F1@IAHER TR (F) SC
2| K|egem spizso 1ssTR(14) | 12| E|DERS SBI3S BABHR 12| B | g mEiaRans
BHAIE(1E-0FEDY) =
13| R |SB1350 11:55T 4% (14F) 18| £ 13| k |F—1L@
REHRE (3-5%4) PREA(F) : R
14| £ 551550 1155 T (148) 14| A £78 14| K [FENBFN2E (55F)
FENBFNFEE (5F)
15| £ 15| B |[HA%EGBNIE) SC 15| K LB EE SB13:50
16| B %338 16 | & |FRINEFN 2B HBER (54)15:00 16| & |REFZE A (55)
£ BHRENE-VFEDY) SC
17| B |SB13:50 11:55 4% (14F) 17| K 17 £
SHE - FEBHR (BE-VFEDY)
1EEF D258 BARE (28)
18| X |SB13:50 11:55TF4% (14F) 18 [ K |F=AAHLEKRKEE(F-B) SB13:50 18| B %128
- FEBHS (5-65)
1ESBRE-HGRFE 1\ 24 Fo S .
10| Kk [hmnEETIE BaREGLE | 10| g |SIZERMRIEUE 19| B |B1ELLBEZREUE) SC
SB13:50 FAR-FEBHE (2-44F)
SB13:50 W [ 7=
20| K |sog. e gmshar (145) A | < 20| K523l (F)
AR TR R
21| & |N7H&REZ (1-3-5-64F)13:15 21| B %838 21| K |E1EIAHERRRE)
SB14:35
=OVELALD T—ILFHB SB13:50
2|+ 2| B | R#BPHe sc 22| X ity (2-5-44)935
23| B F4iE 23| & 23| & |- AERBEE RIS
24| B |F=b#&BLLaDE SC SB13:50 24| K |FAEDYE (5-6%F) 24| £
WHERZ (1-5-6F-0FHY)9:35
25| & [SB13:50 25 | K [f=h #7284 LD (F) 25| B #1338
SB13:50
26 | /K [SB13:50 26 | & [F=h #1284 LD UE-B) 26 | A |F=hUFEL1LD SC
27| K |FEABEAE (VFEDY) SB13:50 27| £ 27| K |T—1L@
28| & |[RHBE (2 4-0FDY) 1315 2|8 Ho 28| 5 |ttrtasd L@ ()
£ T—LF B
29/ s 2| B |z rEmmRm®Rs sc 29| X 31350
30| A #5538 30 & 30 | & |- IS LQUE-B)
31| Kk |FRABEDE (2-4%)

174

1R=T



7 A 8 A 9 H
B|®E SBRITE B|®E DRITE B|® SRITE
e rx [ —
2|8 #1438 2| K 2| £
3| B |&% sC 3K 3(A $18:8
TR P e T——— ‘1 E 4| B |BhRE Caababy) s
5 |k [rERE2-6%) 5|+ 5 | x| BAELEOTHY
o | & |[Zorhor WE HERIE (3-55) o|m 6 | K |BomE @58
7 ﬁ%ggg]g&ﬁﬁ) 71 8 7 *gg;?ggﬁ*;ﬁlllﬁ(@(tﬁ%-i%f&)
8| 8| X 8 | & |F-h AR TFHA
9 (A %1538 9 |k 9|
10| A [sc 10| K |#REHESIZELL(BAIZFHBAEL) 10| 8 %1958
1|k |[F—L® 1| £ waoH 11| B |[f=h0FES1LB(VF) SC
12| Kk 12| £ 12| &k
13| K [F—ILFHE SB13:50 13| B 13 K
14| & [sIEELLE) sC 14| A |sumre 1] o S e o0
15| + 15| &k |2#BAT B 15| & [E=0HEEA LOE-B)
16| B 1658 16 | K |##BAF B 16| £
17| A BOH 17| K |#%EAFE 17| B %208
18| X |ELADEES 18| & [##BEAFA 18| A HENA
10| A |2 #ERAT 10| £ 19| k |[EB2eEERE
20 | & |# %X SB11:20 20| B 20| K
21 | & |EEHRERME 21| A 21 | K [SB13:50
22|+ 22| K 22| & |sc
238 23| Kk 23| £ S0l =]
24| A |sc 24| & 24| B %2138
25| K 25| & 25| A |SC
26 | 7k 2| = 26| K
27| & 27( A %178 27| Xk
28| & 28| A 28 | K [EB&FIT SB13:50
29| 29| K 29 & [SC
0|8 30 | %k 30(+
31| A 31| K |EERERT

2/4

2R—2



10 A 11 A 12 A
B|®E SBRITE B|®E DRITE B|® SRITE
118 %228 1| K |FEAHAENER(5-64) 1| & |=hHEEALOUE-B)

v
2 | A |EB&TFT(F) 2 | & [SB13:50 2 [+
3K 3|2 XD B 3(A #3138
4|k 4|+ 4l B §$(§3¢t¢$iﬁ§iﬁf-)u§§§ﬁ)
5 | & |SB13:50 5|8 $278 5| X
6 | & [SB13:50 6|8 ngﬂiﬁgﬁti;g;ﬁ&) sc 6 | K [FE2E-IHLEXTRE ()
SB13:50

s || #238 8|k |hEBE G55 sBIsse 8 | & [B2EEDALZRS ()
0| X (R Ra R CRRAh> 0| & |a Rz smaL 0| & A
11 7k [SB13:50 1] £ 11| A |SB13:50 EABHE SC
12| |FHEBETHA 551350 12| B %288 12| x [sB13s0 EABBE
13| & 13| B |sC 13| 7k [SB13:50 fAABEHS
14| £ 14| k| BEEEIEE (REITE) 14| K |SB13:50 AABHKE
15| 8 B24i 15 | 7 |22 1747 (64) 15| & ;B%‘%?L{(@%ggiﬁ
17| % 1| & R e o) 17| & %338
18] & 18| £ 18| A [sc
19| & fgfﬁ?ﬁgﬁ(ﬁ%%éﬁm:oo 198 %298 19| %
21| £ 21| K 21| K |KXiEbk #B%T SB13:50
2|8 %258 22| 7K |SB13:50 22| & |#%=X sB11:20
23| B |2 (R1ELEFERR) SC 23| K HyREHOB 23|
24| &k 24| & |RROBFRAYT—R%B) 24 | B |2 FRERE
25| K 25| & 25| A
26 | & |SB13:50 26( B #30:8 26 [ X
27| & 27| A |[F=hVFEF1LD SC 27| %k
28| 28| X 28| K
29( B %2638 29| Kk 29( £
30| A |(sC 30| & gg;?;‘(fg“‘@@) 30(+
31| &k 31| B

34

3R—T



1 A 2 A 3 A
B |’ IRATE B |8’ IRATE =N AATE
1|8 b=l 1 | & |SB13:50 1|2
2| & 2| & 2 [ £
3 [ K 3|t 3(A Fa2i8
4| K 418 #3838 4| B |AERIEC(-45F-0FEDY) SC
=OVERMLO o | EEX TS
5|® 5| B lpansin@ sc 5| X |wEiE 2-6)
6 | £ |ZFHRERT 6 |k 6 | K [(AEAIE (3-5%)
718 $348 71K 7 | A |SB13:50
8|8 RADH 8 | |EDBBEALOER) 8 | & |waBIIERL(1~55)
9 | ki |thER SB11:20 9 (& %g%g%gﬁ%”&) 9|t
HERR RBEEBIEELL
10 | K |BHARIE (1-45F-VFEDY) 10| = 10| 8 $438
=D AR NS (KK
1| K [B&BIE(2-65%) SB13:50 11| A Elij;ggé)a 11| A |SB13:50 SC
BRAIE (3-5%) W .
12| & | ek g 12| A REHKA 12| X [#8EH#T SB13:50
13| £ 13| & %B)I%Esoiﬁ 13| Kk |ZEER
14| 8 %358 14| & Eféﬁfgﬁg) SB13:50 14| K |sB11:20
DA ERBEER (R -5)
15| A |%% sC 15| & |SB13:50 15| £ |SB11:20
BABKS
F=DHERBERE-OF)
16| K 16 | € |SB13:50 16| £
BABHR
17| Kk [EEAHEINER(1-35F) 17| & 17| 8 %4458
18| K [HEAER (64F) SB13:50 18| A %408 18| B [SB11:20 SC(&#&)
19| & |BIEHEELL(F) 19| B |E=hHEHYMNESDR SC 19| % |SB11:20
20| £ 20 [ i [BIEZEEL(F) 20| K EFHDH
21| B %3638 21| 7k 21| & |SB11:20
22| B |SB13:50 SC 22| K |MBESIEELL(6F) 22| & |15TX SB11:20
23| X |SB13:50 23| & XEHRER 23| £
ANHLT—(4-55)
24| K |SB1350 24| £ 24| B
25| Kk [SB13:50 25( A $418 25 | B |FERKRERE
AhHLWT—(3F) R(EH2HE) sC "
26| £ |3B13:50 26| B | ses (RE4T5) 26| X
27| £ 27| K |EEEEEDR 27| 7k
28| B %378 28| 7k 28| K
29| A [#ESH(B) sC 29 [ K [SB13:50 #BESIEHELL(6E-F) 29 | & |FERNKRELRT
30| X [BESHUE) 30| £
31| K [BESBOEDY) 31| B

4,4

4R=D



